1 Bapuant
1. Beruucnure 4sin37%30'cos37%30'sin15°.

7 3m
2. H3BecTHO, 4TO COSX = 2—5,7 <o <2m . Haiimure cos2a, tg2o

. 2 .
3. Ympoctute BhIpakenue (sina—coscar) —1+4sin2¢.

2 BapuaHT
1. Berauciure 4sin 7°30'cos 7°30'sin 75°.

. 24 T .
2. HW3BecTHO, 4TO SIN X = 2—5,0 << 5 . Haitnmure sin2a, ctg2o .

. 2 .
3. Ympoctute BhIpakenue (sina+cosa) +1-sin2a.

5 BapuaHT
1—sin”22%30"

1. Brruucaure > .
2cos”15°—1

5 R4 .
2. MW3BecTtHO, 4TO COSX = _E’ﬂ <a< - Haiigure cos2a, tg2o .

3. Vnpocture Bhipaxenue cfg o(1—cos2a) ! —cos’2ax .
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